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Question 1

0.4 m

M =50 Nm

The 15 kg wheel has a radius of gyration about its center ¢ of k; = 280 mm.
When it is subjected to a couple moment of M = 50 Nm, it rolls without
slipping. Determine the angular velocity of the wheel after 5 s, starting from
rest. Also calculate the friction force that the ground applies to the wheel.
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Question 2

The 5-kg slender rod is suspended from the pin at A. If

a 500 g ball is thrown at it with a velocity of 10 m/s,
determine the angular velocity of the rod just after
impact. The coefficient of restitution, e = 0.4.
0.8 m
Vg = 10 m/S
| -
0.2Zm
v

Communitising Technology



